OJAPYA A 3x-4)2 -2(x-3)2 =02 ax* +bx+c =029 EE=Z
wehd o, ac - b 9] = FStoiet

> E

(1=

~&B ~

(Bx—4)2-2(x-3)2=0

9x% —24x+16-2x> +12x—-18 =0
x> -12x-2=0
ca=17b=-12, c=-2
Lac—b=-14+12=-2







OIZPTAAl x2 4 ax+b=09 F 20l x=3,x=-14 W, a+b 9
& ot

Ch "
H -

>
[> HMeb: g

oH .

(x=3)(x+1)=0
x?-2x-3=0
a=-2, b=-3
~a+b=-5




-x7]—_1, 09 ]-’ 2%[[“]:}

_g]

4.

sholat,

27

3

r2—x—2

.

ul

r2—1-2

(-1)2-(-1)-2=0

12-1-2=-2

22-2-2=0

-1




5.

O|ZAFT A ax? - (a-3)x+2-a*> =09 Tt o] -1 4 uf, a 9] G2

Fatelet.
> oo

> ®EeH: 1

~&B

Fol71 4o] x = -1 & A5}
a+(@a-3)+2-a*=0
a’-2a+1=0

(a-1)2=0

La=1




oA A ¥ +ax+b =09 Ntx=2 x=-4Ld W, a+b 9
%e ool

-

>

> ™. -6

B )
(x=2)(x+4)=0
X +2x-8=0
L a=2,b=-8
~a+b=-6




7. e Ex24+2%-8=004TL AL 25 Zetet

@ (x—2)(x+4) =0

© x-2=0F=x+4=0
© x+2=0FE=x-4=0
@ x+2=0F=x+4=0

@ x=-4F=x=2

iy

i

0x
L
©

v VvV VvV v v Y
0
i}
Q

02
L
@

2 +2x-8=0
(x=2)(x+4)=0
x-2= 0 EE=x4+4=0




e % (Tr-14) 2y +8) = 02 WS A9 A5
@ x=6, y=-4 © x=6,y=4
© x=-6, y=-4 ® x=-6,y=4
@ x=4,y=6 ® x=-4,y=6

O FAME Ql @ 274 3)3 74

@ 570 ® 671

x=6Fcy=-42A A& oA
x=6%U A9, ©




OJAFTAHA (x-1)(3x—=2) =0 & ax® + bx+ ¢ = 0 EE UEHd o,
a+b+c o & Fotofeh

> E.

> Hehl o

~&B )

(x=1)(3x—2) =3x* —=5x + 2
=ax’ +bx+c=0
a=3,b=-5 ¢c=2
“a+b+c=3-5+2=0




stoqet,

=R

o

Ax-x-6=09

ki

17

10.

-

ul

A




